Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C310501 Date: 06-01-2016
Subject Name: PAIC
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:

No.

1.

oA W

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Y Aa [Asc.

Range of pH from to

A. 0Oto7 B. 7tol4

C. 0Otol4 D. 2t09

pH oll Hallel ol Ylloll B.

A oy B. wallay

C. odlay D. 2efle

Entropy cannot be explained by

A.  First law of thermodynamics B.  zero law of thermodynamics
C.  Third law of thermodynamics D. Allof these

Aol gLl ALl astdl «tell.

A allsldPst ot yar @at B enilsiaua@sy ol 9ot Ran

C. allsaad@su o ol Qad D Gur et sty
Drop pipette method correlate with

A.  Surface tension B.  Viscosity

C. Concentration D. Allof these
slu e ugld AU AsUAA B.

Ayl B ®aotdl

C. diadl D GuRretl ol
pH meter is used for measurement of

A.  Viscosity B.  Surface tension
C. pH D.  Pressure
pHHle: ol HiUet M2 auRiA B,

A Rt B ywaual
Corrosion of metal is process.

A.  Exothermic B.  Spontaneous
C.  Non spontaneous D. Endothermic
el setaell ulsal 8.

A R o adl B auuddi adl
C. Gwudus D Guualus

Heat capacity at constant volume symbolized as
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10.

10.

11.

.

12.

.

13.

3.

A. Cv B. Cp

C. Hp D. Hv

WAUN sEU G &HAL A glRLealauu 8.

A. Cv B. Cp

C. Hp D. Hv
Ostwald viscometer used for measurement of

A. Refractive index B.  Viscosity
C.  Surface tension D. Allofthese
wales(AQslHler ol HlUet HIE dUR &,

A afletatis B. Raloudl
C. ywaw D GuRell st o
The emf of Hydrogen electrode is

A 0 B. 1

C. 21 D. 20
L8R el Yl oll emf RUEY

A 0 B. 1

C. 21 D. 20

Which factor increase the solubility of solute?

A.  Temperature B. enthalpy

C. Entropy D.  None of these
aled ofl alealdl YRaun l af .

A dtumiet B Qoaiedl
C. ALl D. Qs uala3
Adsorption is classified in types.

A. One B. Two

C. Three D. Four
OENNEN ysiR aollsd sl astal.

A s B.Q

C. ol D. 2

In acid base titration, is taken in the flask.

A. Acid B. Base

C. Water D. Indicator
AYLS AR WafHiUal Hi, SARSUL ARAHL AA B,
A Qs B Qe

C. yus D well
Carnot cycle proceeds through Step.

A. One B. Two

C. Three D. Four

sotle ASHL dotsst gl .

A s B.Q

C. g D. R
Entropy always remain

A. Positive/zero B.  Negative
C.  Negative/Zero D. Allofthese
Ao\l sR2U alaL.
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A det/ge B. g

C. uygyea D Gurell sl s
Cp—-Cv=
A P B. R
C. T D. V
Cp—-Cv=
A P B. R
C. T D. V
H=E+
A. PQ B. V
C. PV D. Q
H=E+
A. PQ B. V
C. PV D. Q
Kinetic energy + potential energy =
A. Enthalpy B.  Entropy
C. Internal energy D. Gibb’s energy
allQ Gost + Retell Gost =
A Reaedl B. AUl
C. uidRs G D. [lou Gt
Closed cup filled with water is an example of system.
A. Open B. Closed
C. Isolated D.  None of these
ol Wl eREAl oA yoeudld Gelgral B.
A uyeell B oy
C. [zl D. Qs uala3

is a unit of concentration
A. Litre/mole B.  Mole/litre
C. Mole® D.  Mole litre
Ulacll oll AsH 8.
A. Litre/mole B.  Mole/litre
C. Mole® C.  Mole litre

is used for determination of surface tension.
A.  Pensky martin instrument B.  Able’s instrument
C. Stalagnometer D.  Ostwald viscometer
Y5 gl Hiudl Hie ALYt AURA D,
A Qg 1idlet B, Roct
C. sl {2 D raues [@Qeslle?
Caustic soda manufactured by electrolysis of
A. KCI B. NaCl
C. H20 D. HCI
sk s Astoll olollale ol (Agct (Qeuosatell s .
A. A|203 B. VZOS
C. Fe C. 2n

catalyst used in manufacturing of sulphuric acid.

A. Aleg B. VZOS
C. Fe D. Zn
UCY(Rs ARLS ofl tlottaul Gelus U ®.
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22.

RR.

23.

R3.

24,

RY.

25.

U.

26.

26S.

27.

9.

28.

RC.

29.

A.  AlLO;3 B. V205
C. Fe C. 2n
Ammonia is manufactured by method
A.  Contact B.  Habber
C. Electric D.  None of these
AL ofl olollae ugldell s 8.
A Aub B &
C Qyda D As uglal

catalyst used in manufacturing of ammonia.
A. Fe B. Zn
C. Mg D. Al
Aol tlottarzHi Gelus duA 8.
A Fe B. Zn
C. Mg D. Al
Ammonia is a
A.  Gas B. Liquid
C. Solid D.  Solution
Aol B
C. ud D gaul
We can make primary standard solution of
A. NaoH B. NayCOs;
C. Benzoic aicd D.  Succinic acid

of Wle@s YHUQlct alagl olottcll atstat,

A. NaoH B. NayCOs;
C. Benzoic aicd C.  Succinic acid
The number of moles of a solute per liter of the solvent is called
A. Formality B.  Normality
C. Molarity D. Molality
As leR alas Ui aleal 2 WA ofl vl Re@
A galldl B oluicllél
C. Qadld D AQadldl
Normality of a solution is the number of of solute per litre of solution.
A.  Moles B.  Equivalentweight
C. Formula weight D.  Mole fraction
alalll ofl AALE NeA As leR alaQuHl sleat AACL ofl vl
A Qe B dqeuew?
C. yaar D. Qe 2ial
The molality of solution is defined as number of moles of solute present in
A.  One litre of solvent B.  One litre of solution
C.  One kilogram of solvent D.  One kilogram of solution
alale(l Hacdldl RAea Ui slcal AL sled ot T ofl vl
A Qs dle alas B Qs dlle alawl
C. AsBAouH alas D. Qs BAoux alael
In conductometry titration, end point determined by change of
A. Potential B. pH
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R¢C.

30.

30.

31.

31.

32.

3R.

33.

33.

34.

3%.

35.

34.

36.

36.

C. Concentration D. None of these

5055225 BajHiUet Hi Hi 32512 Al 2ilAn (Olg otssl aua .
A QAR B.  pH
C. sl D. Qs ualai3
pH + pOH =
A 7 B. 0
C. 14 D. 5
pH + pOH =
A 7 B. 0
C. 14 D. 5
Electrode used in measurement of pH.
A. Hydrogen B. Calomel
C. Glass D. Allof these
gl pH oll HiUet Hie AU B.

A sl glaet B 3dmua
C. o D GuRetl ot
In calomel electrode, glass tube filled with
A. KCl solution B.  HCl solution
C. Hg D. Pt
SAMA YaHi stuall atollui R 8l .
A KClof alal B HCl o alant
C. Hg D. Pt
Standard hydrogen electrode immersed in HCI solution
A 2M B. 5M
C. 1M D. OM
YHIRLA sLESSlosat Yl HCI otl alall Hi QUULS clH 1A B,
A 2M B. 5M
C. 1M C. OM

Electrode having a known potential.
A.  Working B. Reference
C. Inert D. Allof these

B8AsELS Rl WSGAAA URAA B.
A gZal B. ieal
C. A D GuRretl ol
Milk is an example of
A. Sol B. Gel
C. Emulsion D.  True solution
£ oj GELERQ B.
A Ad B. Rt
C. St D ayj slaw
The movement of sol particles under an applied electric potential is called
A.  Electrophoresis B.  Electro osmosis
C.  Electrofiltration D. None of these
Qgd WEAAUA ofl slorlui adl Nt s806(l oA 58 ©.
A Qyd stauellla B, sAsdl allmllld
C. [Qydla sunal D. Qs ualai3
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37.

39.

38.

3¢.

39.

3¢.

40.

¥0.

41.

¥q.

42.

¥R.

43.

The explanation of Brownian movement was given by

A. Robert brown B.  Robert boyle

C.  Albert Einstein D. Tyndall

WGt oA ofl U gl AW ocll.

A Aué olGet B, Qué A

C. uend wyR2LEa D dlset

The scattering of light by the dispersed phase is called

A.  Brownian movement B.  Tyndall effect

C.  Adsorption D.  Electrophoresis

QAR sEL gLl Ul Ustaletll Yslelet o 58 B.

A gBRaet aUd B dlsct maR

ST ENANTE D [Qgd steuelalla

A colloidal solution consist of

A. Adispersed phase B.  Adispersion medium

C. Adispersed phase in a dispersion D. A dispersion medium in a dispersed
medium phase

sl alall YA B

A QAR sc [Qaust Miean

C. Qauct it QAR sct D As ualal

The process of adsorption is

A.  Exothermic B.  Endothermic

C.  Sometime exothermic, some D.  None of the above
time endothermic

u @2 ol ysau

A Guudus ® Gl B

Co suRs GWIAUS AU URS D. Qs uela

ESTTENLNE
Adsorbent is that substance

A.  Which concentrate on the surface B.
C.  Which evaporates from the D.

surface of metals
weflollms ueLel

Where adsorption take place
None of these

A quidl uR AR wa ® o2l @ 2NNEL UL B

C. 3R adell uudl uzell D. Qs uel ok
o letclat WA B

In gas chromatography Is used as mobile phase.

A.  Gas B. Liquid

C. Solid D. Allof these

A sl | R A 3% dF auu B,

C. dot D. Guretl

is used in analysis of calcium and magnesium.
A.  H.S B. EDTA
C. PABA D. HA
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¥3.

44,

Y.

45.

3.

46.

¥S.

47.

¥9.

48.

¥C.

49,

¥C.

50.

Yo.

(A1 wa Aol 2AM ol Y2usL M AuRAA B,

A.  H,S B. EDTA

C. PABA C. HA

When indicator changes a colour in titration?

A. At the end point of reaction B. At half concentration of reaction
C. Atstarting point D.  None of these

U HIUHL Y Us sUR 2L £A?

Ayl iAu (g A Byl ofl diact ustll ez R
C. o33l oll ooty D. Qs unl R

Which salt is useful in inorganic qualitative analysis?

A.  NH4CI B. H)O

C. HCI D. NaOH

52l &R wslellls Yeaus0L Ui cuRjA B?

A.  NH4CI B. H)O

C. HCI C. NaOH

When water is cooled to ice, its entropy

A. Increase B.  Becomes zero

C. Remains the same D. Decrease

Ul 65 USl v olatcll dofl Aeg Ul

Al B geaua

Co Aot R D w2

The cycle of processes which occurs under reversible condition is referred to as
A. Cyclic process B.  Closed process

C. Carnot cycle D. Reversible process

Al usla ulsal 3 @ ylQadl uRRAH wa ®d Asl 58 8.
A uglaylsa B oiuylBau

C. solle us D ayQadluBa

Entropy is a measure of of the molecules of the system.

A. Concentration B.  Velocity

C. Zig-zag motion D. Randomness

Aol Ul A youcllotl ugA{l o HIUES 8.

A gl B Qa

C. Slar-Ratald D.  wcacral

Mixing of two or more gases is a

A.  Non spontaneous process B.  Spontaneous process

C. Reversible process D. Irreversible process

A 5cll ay dl3] ol AdU sl d

A uRd o adl ylsa B auudd adl yba

C. yQadluBa D ayQadl uBa

A process which proceeds of its own accord, without any outside assistance is called
A.  Non spontaneous process B.  Spontaneous process

C. Reversible process D. Irreversible process

Al ylsau ¥ @ Wdlofl A awat & B sitgl oot ofl %32 otell Al ulsaua
sdallu 8.

A quund ot adl uBa B.  uid adl uBal
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51.

uq.

52.

YR.

53.

u3.

54,

uy.

55.

wy.

56.

us.

S57.

Y.

C. yQadluBau D, ayQadl uBau
For an exothermic reaction

A. AHis—ve B. AH is +ve
C. AEis—ve D. AH s zero
GuLAUSs ylsal 1R

A. AHis—ve B. AH is +ve
C. AEis—ve C AH is zero

The change in enthalpy that takes place when one mole of the compound is formed
from its elements is called

A. Heat of formation B.  Heat of synthesis

C. Heat of combustion D. Standard heat of formation

As HAH BA% ot Aotl At HIYl ool R Ul Aol oll RS2 A 58 ®.
A Yool Gl B e@uul sl

C. gsot Gul D. Y@l Aol Gwl

The branch of chemistry which deals with the heat change caused by chemical reaction
is called

A.  Thermodynamics B.  Thermal chemistry

C.  Thermochemistry D.  None of these

AAAB s B £ aulot AA BB o1l 3§12 ol AR UL ol
ULHLHL SRAULHL A &,

A GwlQ B Guu 2a2ietaut

C. 93 D. Qs uala3

The heat capacity at constant pressure is related to heat capacity at constant volume by
the relation

A. Cp-Cv=Cv B. Cp-R=Cp

C. Cp-Cv=R D. R-Cp=Cv

VAN €GB GV BH AL Aol WU 5& GBHL AH Al AR oll AolY
A. Cp-Cv=Cv B. Cp-R=Cp

C. Cp-Cv=R C. R-Cp=Cv

The amount of heat required to raise the temperature of one mole of the substance by
1K is called

A. Heat capacity B.  Molar heat capacity
C.  Molar heat D. Allof these

A5 WA UELE of dlUMlot 1 K el 12 %33 GuHl ol séalA
A GuL &Ml B etk Gut et
C. aller 6w D Gurell sl
Which of the following properties is path function?

A. Concentration B. Internal energy

C. Enthalpy D. Entropy
o{lAsttHiell 520 oyt ua (AR &2

A digdl B uidRs Gad

C. Aeaucdll D. A2

For an adiabatic process, according to first law of thermodynamics
A. AE=-w B. AE=w

C. AE=qw D.  None of these

Al Msu ol yuH o Yyid), sl ylsau 1
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58.

uc.

59.

ue.

60.

SO.

61.

Sq.

62.

SR.

63.

G3.

A, AE=-w B. AE=w

C. AE=qw C.  None of these
An isothermal process takes place at constant

A.  Temperature B.  Pressure

C. Volume D. Concentration
AHA YA WA JUR)

A Quua A gad

C. s C. dacA

The first law of thermodynamics is

A.  The total energy of an isolated B.  Total energy of a system and
system remains constant through surrounding remains constant
it may change from one form to
another

C.  Whenever energy of one type D. All of the above
disappear, equivalent amount of
another type is produced

ArlstAA@ s oll yun [Qan
A el yeudlell et Gast Al B. youdl wal ualiazeell se Gt
%12 Ul 9l WAN WY B, AN sl B,

C. GaidAsxaBUHictlal WD D Gurell at
R oflost UL Beurt ULt

R
An intensive property does not depend upon
A. Nature of the substance B.  Quantity of matter
C.  External temperature D.  Atmospheric pressure
(AQRs opatuxl UR ALUR AuLcll otel.
A ueldell ysla B qcaell el
C. GUal dluMiet D alctaral o ougt
A system that can transfer matter and energy to and from its surrounding is called
A. Aclosed system B. Anisolated system
C. Anopen system D. A homogeneous system
youell valcRemidll Gost ¥ act ofl U A 52 ®.
A dy B QRell
C. el D. auial
A - > product is
A. Unimolecular B.  Trimolecular
C. Bimolecular D. Tetramolecular
N p— > ofluoy
A s aedlal B Bl
C el D yqdaeca
As temperature increase, the reaction rate
A. Decrease than increase B.  Decrease
C. Increase D. Stay the same
dluHtet aatel ylsa aot
A udaad B w2
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64.

S¥.

65.

S\Y.

66.

56.

67.

S9.

68.

SC.

69.

Sc.

70.

C. ad D. et 22
For the first order reaction the rate constant Kk, has the unit

A. Mol B. Time®

C. Mol time™® D. TimemolI*

Y sHo{l ylsalell Aol WAN(S K ol AsH

A. ]_uc,t'l B. %{Hu'l

C. R una? D. il dler?

Reaction rates can change with

A. Temperature B.  The addition of catalyst

C. Reactant concentration D. Allof these

Yzl Qat wuecal dl deA B.

A dlumiet B Gelus GRraLell

C. yslasel Uil D o

Small droplets are spherical in shape. It is due to

A. High viscosity B.  Their tendency to acquire minimum
surface area

C.  Their tendency to acquire D.  Less viscosity

maximum surface area
Yelldlotl otlotl 2lul oN: 8l & s120L ¥

A Gl Yl B Qo9 1 20y Y dlal Aviclle] dctl
C. ayui ay uudld &ssa D. 204l Ratoul

v clle] AABL
With the decreasing molecular mass of liquid, the viscosity

A. Increase B.  Decrease

C. No effect D.  None of the above

Yallgloll RJeR U2 dl, Ralotdl

A al B w?

C. wun W D. Q8 ug e

Viscosity of a liquid is a measure of

A. Repulsive force between the B.  Frictional resistance
liguid molecules

C. Intermolecular forces between D.  None of the above
the molecules

Yallgloll Rt of Hiu

A yagl wg aojuusdel B udel wady

C ugy aAoj uicR el o D a8 ug il
With decreasing temperature, the surface tension of a liquid

A. Increase B. Decrease

C. Remains the same D. None of the above
dltuniet yeatell yeudl of Yl

A ald B w2

C. ol D D. Q& uaL

The force in dynes acting along the surface of a liquid at right angle to any line 1 cm in
length is called
A.  Viscosity B.  Surface tension
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C. Parachor D. Refractive Index

yYaltdloll Auidl uR stev@l 1 A oll Il uR cotdl sl 58 .

90. A Ralducl B ywdual
C. AusRR D. adletaetis

*hkkkhhkkkhhkkkihkkikkik
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